



































































































































































































Lecture 22

HW 8 out due next Monday3pm

First 3 problems should
be doable from last week

Pok CEor future 2021

Day 3 per class to have

assaigneaments exams than

gradescope

b Do not 3 hurl exams

done normally paper

Example
prove

Ntl I a Z t n






































































































































































































We will exhibit a bijection
f Pawnee SKIN z zu u n3xlNn

Ciel Bx IN

Chl liz Ez3xlNz

3117 3D 3,3 33 lN3
i
i

n3xn1NLn D Laid 11mn73

RannaEI ne






































































































































































































The animation shows the

bijection

D EB XIN

2,17 Caz Tsx Nz
841 427 Csis 33x1Nz

i
4 7 53can Eid

µ u3HNn

I 2 3 4 for 6 Fee

f Blake

f shooting rags up

f
ee shooting rags

down

a CGDE
g f 27,53 b biz

c 3,2
d 4,5
e 616






































































































































































































a 16 2

f 4,53 b Cts
c Greg 9 loco
d cc 5

e 6,27

c is correct

Core

4 5

More formally.io
Write down a formal description
of f

f a b3 ntl la
blymia

Sfc 97,53 6 1 2 5 55






































































































































































































Inverse

glep.gs q
excereise

Verifying
f og id

got _Id

So

Y Caz a n

C






































































































































































































Bijective method

To prove
an equality

a b

D lutepoef LHS as the
cardinality of some set A

HH a

2 lutepoef RHS as the
coordinating of some setts

IBL b
3 Find a bijection

f A B
conclude

Then r
HH IBI so a b

I t2t in T
n ntl

hRnxD






































































































































































































How to use ph principle
want to prove

S

1 Choose A et

E Choose B set

BK IAI
3 choose f A 713

by PHP f is not

injective

4 Explain why knowing

f is not injective
proves S
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